Class Test 1, 2007

Solutions
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| [4] Which of these statements about the electric potential difference between two
points is not true?

A It is the path integral of electric field from one point to the other.

B It is the work done per unit charge in moving a charge....
© Its units are volts per metre.

C It is zero if both points are in the same conductor, under static conditions.
Unbs = VOLTS.

volume density of electric charge
surface density of electric dipole moment

2_. 4] “Polarization” means
é\) volume density of electric dipole moment
B
C
D surface density of electric charge
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